Class Test 2, 2007

Solutions
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| [4] Kirchhoff’s Current Law is a consequence of which of the following equations?
A J=0(E+E)
EMF=§(E+E,)-dI
v.3=0
D P=[EJdv

Z. [4] Which of the following is a true statement about the change of magnetic field
intensity, H, and magnetic flux density, B, across an interface between two
materials?

A The normal part of H must be continuous.
The normal part of H must be discontinuous if the materials have
different permeabilities.

C The tangential part of B must be continuous if the materials have the
same permeability.
D The tangential part of B must be discontinuous if there is surface current

on the interface.
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